[Rupall Bank- (Cash) - 2018]

Post name: Officer ﬁj__._09=_03‘-2j.018.
1. IfsinA +sin’A = 1, then the value of the expression cos’A + cos*A is — /Rupali Bank Off-
(Cash)-2018]

Al B. C2 D.3

1
2
¢ Solution: (A)

sinA + sin’A = 1

sinA = 1-sin’A

or, sinA = cos’A

or, cos’A =sinA or, cos’A =sin’A  or, cos*A =1—-cos’A  So, cos’A + cos'A =1

2. A pole 6 m high casts a shadow 2+/3m long on the ground, then the Sun's elevation is ?

(935 3fow Tt © fir, @ Ifbw g ondr x40 i 2w T SRS (P 9?) [Rupali Bank Off-
(Cash)-2018]

A. 60° B .45° C.30° D. 90°
¢ Solution: (A)
¥ 4
ST S, tan = ’
gﬁ-
AB
stand = — (e fom s
n BC ( ) pole=6
or,tanﬂ—i ——3— = J_J_ \f
23 2 B
= 2J_
or, tand =tan60°  [Since tan60°= /3 ]
~. 0=60° (Ans)

3. Ifa+1,2a+1,4a-1 arein Arithmetic Progression, then the value of ‘a’ is (43 =g
4 Mt a + 1, 2a + 1, 4a — 1 -1 a 9 9 39?) [Rupali Bank Off- (Cash)-2018]
A.l B.2 €3 D.4

¢ Solution: (B)
(2at1)-(atl) = (4a-1) - (2a+1) (FaCRY 4G GG B YRV ST 7T A FRYI 71 1)
or, 2a+l-a-1 = 4a-1-2a-1
or,a=2a-2 ..a=2 Ans:2

SN a = 2 I 41 T 24D, Ix+D R 8xR-> TR ©, ¢ R q (I FRA { )
T TS TSI AN AT TR |
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[Rupali Bank- (Cash) - 2018]

4. Suppose today is F riday. What day of the week will it be 65 days from now? (% e |
& CF ve e i 5 1 72) [Rupali Bank Of- (Cash)-2018]
A. Saturday B. Monday C. Tuesday D. Friday

¢ Solution: (A)
SIS ST A S 20T @aetg v, seww, RO, BT, VYT, BUTT, (OB, ¢ IOT G2 Y8 fHe BH
R | SR LeOT e F( ST R Ty W *f=ig |

G5 NWWWWQWWW>WWWW@IW¢RQ£§@WWN5
QT 0T QTR IR Z0R | QAT e T T Q@ 97 SAOT 1o €2 bots = b8 N e ST | AR ve

o foe 2 wifear | (B1ffe *1ww5: from NOW = QI (T YR WIE 7E 430 T(J )

S. A median of a triangle divides it into two (Rrgter st fagefs 7t Tov e Roe
... )[Rupali Bank Off- (Cash)-2018]
A .congruent triangles B. triangles of equal area
C. isosceles triangles D. right triangles

¢ Solution: (B)
W (@ fargres T4 fager crafre T crawe e 76 o fagre Rew ww | arwo of s
AR 266! eFyf 77| w2 Bew: B

6. Which of the following angle can be constructed with the help of a ruler and a pair of

compasses? (53 (1 IS G6f6 vheT q3R 9 T IER T wEw v ?) [Rupali Bank Off-
(Cash)-2018]

A. 35° B. 40° €.375° _ D .47.5°
¢ Solution: (C)
TR 459 9% Hfbw wef et qaiTe 7@ |

wwmwmwﬁmw«wwuﬁwwmmaﬁwwmwmw
wﬁwwﬁmwmﬁamﬁﬁwwaﬁmmﬁwmwr foarpiie aafe
TG G 4G ] <o o 3R P e s @t et T @l T S 2 | Geeie

Waﬂwoﬁﬁ‘maﬁawwﬂa@wﬁﬁwmm QTR T wEe T4l AT | GO
SRS (IS I I N4 97 AT |

AT AVE WP WG 0 @ q¢ s o 4w
T ST 09.¢ TR (1 Wit 789 | Wi efed a.¢ Gt
FACET (T VYT 97 (FI9 T ©F W& 3] 799 |

90" 75°

37.5°

7. Ifa,b and c are the lengths of the three sides of a triangle, then which of the following is
true? (I <= frgrem off T/ T a,b @@ ¢ T Sz Fesa @R %) [Rupali Bank Of-
(Cash)-2018] ‘

Aatb<c B. a-b <c C.atb=c D.atbh > ¢

Solution bv Khairul Alam- 2



[Rupali Bank- (Cash) - 2018]

¢ Solution: (B)

o ewg wfras:
> TagreE o i 9R e TR oI Ty g SO 926 | 9R GF Reidfire
> fargrem 1 w2 Atew wew 1 94 A1 R g g woere e |

X R S S B (e a-b < ¢ T 1 Wit g Rt et o vl T (2t (16 70 |

8. Which line is parallel to y = x -2 ? (o531 b y = x -2 &= SWI9=11? ) [Rupali Bank Off-
(Cash)-2018]
A.y=2x+1 B.2y=2x-6 C. 2y=x+7 D.y=3x+]

4 Solution: (B)
y=x-2
Since y = mx+c

Here slope = 1 (x &9 32! (XY 1 ©I% 1 slope A BT @ | )

QY (TS I WP T (I ARSeABF BT 1 2 | PR AN X0 X0 G54 BT 3 1 209 20 |
ST T (AF

2x=2y-6

=X=y-3 =¥y-3=x .. y=x+3 So,Here slope =1 (94178 x «3 7277 1 )

9. The area of a triangle with sides 3 cm, 5 cm and 6 cm is (o TI.f, ¢TILAL 8 v EA. @ [RFE
fagrea cwawe1 ©2)-/Rupali Bank Of- (Cash)-2018]

A. 2+/3 cm? B .4+/14 cm? C 214 cm? D. 2+/5 cm?
¢ Solution: (C) '
wé o, s = SFI+6 4

= J17-3)x(7-5)%(7-6) = 7421 =2 J14cm? (Ans)

10. The pair of co-prime numbers is (o= (I SRUTe 312 - GRfEE 7RA01?) [Rupali Bank Off-
(Cash)-2018]

A2,3 B.2,4 €26 D.2,110

¢ Solution: (A)
If the H.C.F of two numbers is 1 then they said to be Co-Prime numbers. w4, 3% wf5 sieasra
AR S T SR SRS A= Saifere 91 Co- Prime RT A0 | T @MG So-GT#E 04T L@
ATS 298 R © GF 47,8 ) O3 Teq A.

11. The value of k, if (x- 1) is a factor of 4x’+ 3x*-4x +k, is (3@ x- 1, 4x*+ 3x%-4x + k e
«3fb TeeAMe 27 ORIA k47 W92 ) [Rupali Bank Off- (Cash)-2018]
A1 B.2 C.3 D.3

Solution by Khairul Alam- 3



[Rupali Bank- (Cash) - 2018]

¢ Solution: (C)
T AR: (I A1 oy A SoAvE 20 (@ x- 1 @3B Teome SR x-1 =0 A x = 1 WA
of @ s e 0 e fae |
TR,
f(x) = 4x°+3x>-4x-+k
~ (1) =401)Y°+3(1)%4.1+k = 4+3-4+k =k+3
Now, k+3 =0 (TRg x- 1 7B TeAms ©IR x = 1 AR #IF I W WO ©f 0 YT M 1| )
. k= -3 (Ans)

12. There are 5 red and 3 black balls in a bag. Probability of drawing a black ball is (45
AT ¢fB T G2R off AT 751 WITR | G (A oI GfB o1 et of ittt 2@t 79w F97)
[Rupali Bank Off- (Cash)-2018]

A2 B c.2 D
8 2 8
¢ Solution: (¢)
Total balls = 5+3 = 8 and black ball = 3

1
4

So, probability of getting black ball is = -;— (Fes it =1 W3 o @ <ot foire 29 ot g3t 1)

13. The total surface area of a hemisphere of radius r is (93 <€ (of1eTFa T2t e/ Cwagzpa
¥9?) —/Rupali Bank Off- (Cash)-2018]
A 4nr B.mr? C.2nr? D. 3nr’

¢ Solution: (D)
total surface area of sphere is =4nr*
but hemisphere surface is half of sphere surface =2nr?
+ surface area of a circle = nr®
So total surface area of hemisphere is 27+ r = 3nr?

SIEwD e AT Soitaw fafbe i f@ma

el AP FEACS HIRATR WA CFaFeT |
93T ¢I1ETS AT Sphere SR G FHIER SRATI W CFqET = 4mr’

SR FHIEGIP WAL T @B (AT S G671 ATCH T TS F(A | O (72 A I APICAT St
CRETe I FOICHR T O (FAFER WEF WR 4mr? + 2 = 2nr” G O @ AAS=ioa Jviean s
e e Tee Gt 38 o A TF CFAT X 06 CRAFTER T, nir” W (7 T hemisphere It
G TP ST SUET (RAFE A 20+ mr = 3

14. The roots of the equation 9x* - bx + 81 = C will be equal, if the value of b is ( b <3 W7 ¥©
T 9X° - bx + 81 = C T Nxeifbq evaw 1 2?) [Rupali Bank Off- (Cash)-2018]
A+9 B.+18 C.+27 D.+54

¢ Solution: (D)
9%x*-bx+81=C

Solution hv Khairul Alam- 4



[Rupali Bank- (Cash) - 2018]

we know that,

ax’+bx+c =0

and b’ - 4ac = 0 (<5 T T TR I 1)

or b’= 4ac

or, b> = 4x9x81 (ax’+bx-+c = 0 F@FIE a=9 4k c=81)

or, b=+/4x9%x 81 4x9x81

b==H(2x3x9) ==+ 54

¢ Alternative solution:
9%* - bx + 81
AR (atb)’ W=t (a-b) @R T (FoCS 20 | IRTE AT JEEH AT T |
G,
9x* - bx + 81
=(3x)%-bx+9
= (3x)*-2.3x.9 +97 +54 (WA bx T 3 TS 2ab IMS TX)
= (3x-9)*+54
RIS @2 54 T + 7 T -54 TR 20 O (a+b)’ qoam e e e |

TR TEd: + 54
1S. If secO + tan6 = x, then tan® is? /Rupali Bank Off- (Cash)-2018]
2 2 2 2 _
A X +1 B X 1 c X +1 p. X 1
X X 2x 2x

¢ Solution: (D)
We know that, sec’d - tan’0 = 1
(secO + tanb ) (secO - tanf) = 1
X(secB- tanf) = 1
1

or,(secO- tanf) = — ----- (i)
%
again, secO +tan@ =x - - - - - (ii)
by (i1)-(i)
2 2z
2tan0 = x-l or, 2tanf = x 1 ~tan@ = X o=,
X X 2x

16. Consider thatw + x=-4,x +y=25and y + w = 15. Then the average of w, x, y is —
[BKB~ (Cash) -2017] & [BDBL— (SO ) -2017] [Rupali Bank Off- (Cash)-2018]
A3 B.4 &8 D.6

¢ Solution: (D)
WX +xty + ytw=-4 + 25+ 15
=2wH2x 2y =36  =2(wtxty) =36
= wtx+y=36+2=18" So, average of w,x,y=18+3 = 6 Ans:

Solution by Khairul Alam- 5



[Rupali Bank- (Cash) - 2018]
17. What is the original price of a T-shirt, if the sale price after 15% discount is 272? (936
5 3%¢% /IS e 293 Wﬁmwm%mww%?)? [BDBL — (SO ) -2017] &
[Rupali Bank Off- (Cash)-201 8]
A.300 B.280 C.320 D.314

¢ Solution: (C)
85% =272 So0,1% = %% ~100% = 5%03 =320 Ans:

18. TK. 500 is deposited in a savings account which pays 7% annual interest compounded
semi-annually. To the nearest Taka, how much is in the account at the end of the year?
(CTowt A 9% e TN vergfrs coo DI G RCE BHSR GRISTS ST ATeT I%7 (o o ey
O B A? ) [Rupali Bank Off- (Cash)-2018]

A.542 B.536 Co12 D.524

¢ Solution: (B)
AT 1% AL T St T 9.0 % TS TR | (S 9% ¥ A RE 797 T 20w v )

QIR AT = ¢oo GF 509.¢% €T 309.¢% = ¢Ov (&m)
9IS Rere 41 ( S09.¢% @7 M) aﬁwmwmmﬁmﬁm@awwm|

& RF T
500 (v =T 7%= 3 /) | interest of interest Total interest Amount
17.5 (STers 5@) a7 3.5%
17.5 (SPTeers o@) 0.6125 17.5+17.5+.6125=35.61 or 36 | 536

1
19. log, 4= -2, the X =? [Rupali Bank Off- (Cash)-2018]
1

AL B 1 C2 D.17-
2 2

¢ Solution: (C)
1
log.a=-2 or,x?*= % or,x?=2% .x=2
20. If 5% is gained by selling an article for BDT 350 than selling it for BDT 340, the cost of

the article is (43 537 980 BIFR TS weo BT Rfer T ¢% e | G0 T $97) /BD
House Building FC- (S0)-2017] & [BDBL - (SO ) -2017] & [Rupali Bank Off- (Cash)-2018]

A.BDT 180 B.BDT 150 C.BDT 200 D.BDT 150
¢ Solution:( C)
Selling price difference =350-340=10 tk. And % difference is = 5%

=200 tk

5% of cost =10tk, Or, 1% of cost =-159tk So 100% of cost = 10”; L

Solution by Khairul Alam- 6



[Rupali Bank- (Cash) - 2018]
21. If x=y",y=2z"and z=x° then the value of abc is/BD House Building FC (S0)-2017] &
[Rupali Bank Off- (Cash)-2018]
A.l B.0 C.0.5 D. Infinity

¢ Solution:(A)
x=y" Or, x=z° (Since y=2") Or,x=x" (Sincez=x°) Or,x*™*=x' Or, abc=1
Alternative way, y=2" or, y=x* or, y=y™ or,abc=1 (ol 7 71 €72 Twa 3 )

22. Ifxis 30% greater than y, what percent of y is x? (3 x @3 W7 y @7 (A3 9o % @ 7 OrFre
y &3 \ST TS X 2A?) [Rupali Bank Off- (Cash)-2018]
A.70 B.77 C.120 D.130

4 Solution: (D)
if, y = 100 then x = 100+30 =130
then, x is 130% of y

& T Y:
T ST T T T OIS fAeh fFTTe 203 G M goret o1 A O St ot sropartar R Fare 20 |
9T y = 100 then x = 130

G, Ol YT (IF [ T, 13—?3%: 130% (SR L 51T (I g 1 o S 0o % @t 1)

23. The lengths of two sides of a right angle triangle are 13cm and Scm respectively. The
length of the third side is (9o forgrem 76 qrea ef FAET S ¢ ¢ | $O A&7 WG-) /BDBL —
(SO ) -2017] & [Rupali Bank Off- (Cash)-2018]

A.13 B.17 C.11 D.12

A
¢ Solution: (D)
AT

z 13
wfogreR = % + PR 2w T @3l >
fagrem wfogs yo @ 77 ¢ T O SO Mg TR S G AT XA |

T TAPee ARG TS $3:¢: 3O T | B 12 C

24. The present age of Habib and Shikha are in the ratio of 6 : 4. Five years ago their ages
were in the ratio of 5 : 3. How old is Habib now? (273 93z fRig I87W w509@ wipoits v:8 | ¢
TR I SIS I WA ¢xo foet | TSI 2ReT7 7 F92) [Rupali Bank Off- (Cash)-2018]

A.24 B.30 C.36 D.42

¢ Solution:
Let, (B) ¢ TR Y0 ANI:
present age of Habib and Shikha is 6x and 4x iﬂ%;ﬁm:%ﬂﬁ:ffm ﬁrl I@l ?(zlzt
2TQ5’ 5 Wﬂmwmi\bﬁmww:,

i g 13 s 2w ¢ 3% IW favet ¢

4X2_5 3 I8l . oz St <t T BYEG wo AT |
= 20x-25=18x-15 =2 2x=-15+25=10 m..x=5 I -
Habib = 6 x 5 = 30 years old now. Ans: 30 (vsasm )




[Rupali Bank- (Cash) - 2018]
21. If x=y*,y=z"and z=x° then the value of abc is/BD House Building FC (S0)-2017] &
[Rupali Bank Off- (Cash)-2018]
A.l B.0 C.0.5 D. Infinity

¢ Solution:(A)
x=y* Or, x=z (Since y=2") Or,x=x" (Sincez=x°)  Or,x™=x' Or, abc=1
Alternative way, y=2" or, y=x* or, y=y™ or,abc=1 (adi I tI=6r €92 Twa 3 )

22. Ifxis 30% greater than y, what percent of y is x? (3% x % W y @3 (AT 90 % R T Sz
y &% X641 T X TA?) [Rupali Bank Off- (Cash)-2018]
A.70 B.77 C.120 D.130

4 Solution: (D)
if, y = 100 then x = 100+30 = 130
then, x is 130% of y

& AE Qe
T ST T T T OIS b fF1Te 203 G I goret 41 A O oAt ot srospattar R Fare 20 |
9T y = 100 then x = 130

AR, Ol JT (9 P99 T, %%: 130% (= LA 51T (1 R =1 o S 0o % @t 3 1)

23. The lengths of two sides of a right angle triangle are 13cm and Scm respectively. The
length of the third side is (42 fergrem 76 Jrea tref TG S0 @ ¢ | T g G-) /BDBL —
(SO ) -2017] & [Rupali Bank Off- (Cash)-2018]

A.13 B.17 C.11 D.12

A
¢ Solution: (D)
AR

3 13
wfegreR = 7 + gt 20 2 @l S
fagrers wfoge S0 ¢ 7T ¢ T OF PO A TTL 3 «F A T |

T AP MRS TGS $R:¢: 5O T | B 12 C

24. The present age of Habib and Shikha are in the ratio of 6 : 4. Five years ago their ages
were in the ratio of 5 : 3. How old is Habib now? (273 932 fRig I8 w909@ wipits v:8 | ¢
TG ST ST IO SATS @0 ot | TGN QIR T F2) [Rupali Bank Off- (Cash)-2018]

A24 B.30 C.36 D.42
4 Solution:

Let, 0 &30 0 AKI:

present age of Habib and Shikha is 6x and 4x iwm:gmqu:f Sﬂ *g;_“;‘q
- LS o 5

2T?5’ 5 ST FRGCEE R Y T ot ez |

— =2 o€ G712 it (AT ¢ T27 IW T ¢

S TB S - Tec e 1 6 Sl 00 S |

= 20x -25 = 18x-15 = 2x=-15+25=10 m..x=5

Habib = 6 x 5 = 30 years old now. Ans: 30 (¥ 8 ¢ T R TR SeAT)
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Recruitment Test 2018

Time: 1 hour
). ‘o eed W —
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3, GG I A TR o Ry '
A ST “:“@“Wwa_
C AR - &
4, f057 (0 = fbra vt wotermmst 7 X
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A =1 I 9 B "eThae
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7. SRR BT 0 G 3 eppifar
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Rl AFfeE o

ASm BERMIRT  CW D WS
8. SNl =t (¥ e ‘¥ 3T

A ' -aF & IR A

B TSRS ‘¥ 9 9

C "9 - O™ (TP TS Ren

D ‘T -Ir™ Torrf oF A I
9. “IeR" ABIHF IRIST —

A BTIW eT@AeTg B WRTSIA 330 =129
C *GTS AT D TTAW =TT &
10. “fferTfzrem oo wwpe (afrer zem —
A ARG B IMErST
C STET FTESH LTI D MRS Fre ameten
11. ‘Insomnia’ *o e fasifEa et =0 -
AYfeSl B I C Sfmr D ZHoCET
12. G, JRIF #R@R-9F (S AESE (T LIFS T (AT
GOTR —
A TSI B &I i) D CRzwT
13, ‘G2 TUYT GF TIF, NS — HS T 74
et (T FREY ORI —
A TR B WY@t IRS
C AT A D 38 A
14. frsa it s sl 4319 -
A RS B HIAA-TAIS
C gl D LAl

15. ‘A golden key can open any dcor’ &R 5 -
A BIo M09 7Y N B ~ifseny srwrens ifefs
C 3ot (@ (A G D T R (T TfTemieasst v
16. @fSIe AT 1“5 201 —
AR B OmdFRd  C @3fie D
17. Select the pair in the following u‘pt_iun.r: which is set in

A Doggish — Canine

C Divine — Inferal

B Manly — Virlle
D Earthly — Terrestrial

18. ’In the time of danger, we should try to take the bull by

the horns’ means —

A Surmount it
C Overcome it

B Deal the situation decisively
D Control ourselves

Rupali Bany | mited ‘Officer (Cash)

™\

Eull Marks: 100

19. The art of cultivating and managing gardens is called —
A Horticulture B. Gardening C. Trimming D. Beautification

20. A gentleman should be true __his worgs.

A from Bto Cin D on
21. A f qurteen-lined puem is calied a —

A sonnet B epilogue C ballad D lyric
22. A disease affecting many persons at the same time and

place is called -

A epidemic B infection C sickness D injury
Choose the word/phrase from the liat which is nearest In
meaning to the boldfaced parts of the sentences (23-24):
23, His letter fuelled my doubts.

AEnded  Blncreased C Caused D Reaffirmed
24. The 1%h century was the hey-day of the Renaissance in Bengal.

A days of decline B peak-point

C period of stagnation D time of up-rise
25. Choose the correct alternative from the options to fill in

the blanks: ‘To make headway’ is to

A make progress B make little progress

C progress towards collision D proceed to travel
26. This method is not Wrong, but there may be a more —

method than this.

A suitable B effective C right D working

37 The closest meaning of the word ‘bizarre’ in the
sentence: ‘The model’s clothes were sO bizarre that they

created quite a sensation’ is -

A beautiful B ugly C dull D peculiar
28. He succeeded by dint — his hard labour.
A of B by C for D because

29. Make it passive: They said he is a good candidate’
A He was said to he a good candidate.
B He was considered to be a good candidate.
C It was said by them that he is to be 2 good candidate.
D He was believed by them as a good candidate.

30. Change the narration: The captain says, "Company,
move forward.".

A The Captain commands the company 10 Move forward.
B The Captain Commanded to move the company forward.
C The Captain instructed the company for a forward move.
D The Captain requests the company to move forward.

31. Translate into Bangla: ‘His stars are now in the ascendant’.
AT QAT WS (SH (AT AR 9T |
B ST @7 fia TaR® w4y |
C 93T SR QI JTAS |

D @¥F (T qIFT SqT T\

32. Tagore's birthday was ___ with songs and recitation.
A completed B maintained Ccelebrated D enioyed

s W |
N sinA + sin“A = 1, then the value of the expression
cos’A+cos A s -

Al B1/2 C2 D3

34. A pole 6 m high casts a shadow 2 v3m long on the
ground, then the Sun’s elevation is —

A 60° 845° C 30° D 90°

35.4fa+1,2a+ 2, 4a~1are in Arithmetic Progression.
then the value of ‘a’ is:

Al B2 c3 D 4

36. Suppose today is Friday. What day of the week will D€
65 days from now?

A Saturday B Monday C Tuesday D Friday

|
[please WP over]




iriangle divides it into two -
B triangles of equal area

D right triangles

ith

34, Which of th |
he help of a ruler and a pair of compasses?

A 35° B 40° C37.5° D 47.5°
39, If a, band c are the lengths of the three sides of a
triangle, then which of the following is true?

Aa+b<c B a-be<c Ca+b=c Da+b-C
/3({ Which line is paralleltoy =x -2 7?
Ay=2x+tl B2y=2x-6  C2y=x+/ Dy = 3x+1

A1 The area of a triangle with sides 3 cm, 5 cm and 6 ¢m IS —

A2v3em® B avldem? C2v1dcm? D 2v5er~
4?2. The pair of co-prime numbers is -
A2,3 B2,4 C2,6 D2,11C
43. The value of k, if (x — 1) is a factor of 4x> + 3x* —4x + &, & -
Al B2 C-3 D3

44. There are 5 red and 3 black balls in a bag. Probability of
drawing a black ball is -

AS5/8 B1/2 C 3/8 D 1/4
45. The total surface area of a hemisphere of radius ric -
A 4nr’ B nr’ C 2nr* D 3rr’

?G. The roots of the equation 9x” — bx + 81 = 0 will be eaual,
if the value of b is

AxS B+18 Ct27

Ifsec@+tanB=x,thentan B is —
LA +1)/x B (- 1)/x C (x* +1)/2x D (x* - 1)/2x
48. Consider thatw + x = —4,x + y = 25and y + w = 15.
Then the average of w, x, y is —
A3 B4 C5 D6
A9, What is the original price of a T-shirt, if the sale price
after 15% discount is 2727
A 300 B 280 C 320 D314
50. TK. 500 is deposited in a savings account which pays 7%
annual interest compounded semi-annually. Te the neares:
Taka, how much is in the account at the end of the year?

D+ 54

A 542 B 536 C 512 D524
51. If log, -= —2, the x =?
! A = B - C 2 D3
52. If 5% is gained by selling an article for BDT 350 than
selling it for BDT 340, the cost of the article is —
ABDT 180 BBDT 150 CBDT200 DBDT 250
/9‘3. fx=y%y= zPand z = x€ then the value of abc Is
Al BO CO0.5 D Infinity
54. If x is 30% greater than y, what percent of y Is x?
A 70 B 77 C120 D 130

55. The lengths of two sides of a right-angled triangle are
13 cm and S cm respectively. The length of the third side 5-
; A1l3 B17 Cl1 D12
56. The present age of Habib and Shikha are in the ratio of

6 - 4. Five years ago their ages were in the ratlo of 5 : 3.

How old is Habib now? @
D42

A24 B 30 C36
57. Which of the following is a programming language?
A Lotus B Pascal CMS-Excel D Netscape
58. Which disk is used to ‘cold boot’ a PC?
_ ASetup disk BSystemdish, O &N
C Diagnostic disk D Program disk

- N2 §
b 59, A collection of unprocessed items is - a)"'

/40 A Information B data C memory D reports

60. The amount of vertical space between linas of text in 2
document is called -
A double-space
C single-space

-
-~ _ . g

B indentation

D crop |$?¢
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61. In excel which of the followi pbols 1S
ollowing sym . labeled value?

numeric value so that it can be treated 35

A" (quote) B = (equal)

C_(underscore) D' (apostrophe}
F2. Which of the following types of menu ShOWS th

sub-rhoices?
A Reverse

e further

B Template CScrolled D pull-down

63. Trackhall is an example of a/an: ‘
A Frogramming device B Pointing de"""_:E
C Output device D Software device

ithout
64. If you wish to extend the length of the network withou

having the signal degrade, you wouldusea . ,
A Repeater B Router C Gateway D Switc

55. The main function of the Financial Action Task Force
(FATF) is t3 combat - |

A money laundering
C double taxation

66. The agenda 2063 is a strate
economic transformation of —
A Africa BAsia C South America D North America

67. Recently the country withdrew from UN refugee

programme Is — — ,2/‘5_,

£, Tonzani2 B Myanmar C Syria
£8. The country, pioreer in launching the FM radio

B corruption
D black money

gic framework for the SOCIO-

2
broadcasting IS — /g
A lran B Nigeria C Brazil D Norway
69. The first player to score 10,000 runs in T20 Cricket is -
£ ABde Villiers B Chri§ Gayle
C Virat Kohli D Tamim Iqbal

70. The author of the book ‘Unstoppable: My Life So Far’ is -

A Mary Kom B Maria Sharapova
C Malala Yousufzai D Martina Navratilova

71. Who won the FIFA Men’s Player Award for 2017 ? ' 1
37V
C Lionel Messi |

B Gareth Bale
D Neymar
72. The name of the first Robot that had given citizenship
by Saudi Arabia is — ZL 3N

A Rebeka B Anita C Sophia D Mariah
73. The war strategy of Muktibahini is known as -

A Cristiano Ronaldo

4

A Mujibnagar strategy
C Teliapara strategy

B Rajarbag strategy
D Muktifouz strategy

74. The number of lines of our National Anthem played at ____g ‘]
any national ceremony is first—

A 10lines B 4lines CHhlines D 5 lines

75. The size of Bangladesh’s national budget in fiscal year
2017-18 is —

A 3 lac 80 crore
C4lac80crore

5

B 4 lac 266
crore ? -a

D 5 lac 600 crore
76. The number of common rivers between Bangladesh and

India is -
A 50 B 52 €53 D 54 €
/7. The national Jute day is on —.
h
AS"March BE" March  C5™april D 6™ April
/8. Teletalk recently launched a promotional offer for Y\ &

women is -

A Bohnnishikh M
Shikha B Anannya C Aporajita D Shampurna

79 :
/9. The name of the ancient locality of Bengal is -

80. The ;
name of the organization who recently invited the ==~

Rk eace) laureates in Bangladesh is -
aripaksha B BRAC C ASA D Nije Kori
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